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Perhaps it has enough in order to weave a cloth for this one, etc.

Overview

"WR 27 attempted to prove that 1913 'R MW from a Xn*92 which stated that if two
people carried out weaver’s reed! they are 2»n. The X3 asked perhaps there is
sufficient thread on this 713p to weave two separate cloths.?> Moo explains how this
answers the previous question of RnHyT m1p 1vAW O"X.

Mmoo responds to an anticipated difficulty:
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And the reason that the X072 does not mention an ordinary reed, but rather
specifically a >7737 73p -
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To inform us that even though it is not usual to weave two cloths with one reed,

usually a separate 7737 71p is used for each weaving of a cloth, nevertheless -
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If in this >7737 71p there is a ¥°w to weave two cloths he is 2.

Summary
The ¥ w for carrying can be valued by its potential even if it is not practical.

Thinking it over
Is there a dispute between (X12¥7 73p 17"'72) "W and M0N0 in the understanding of
the question, 'Rn9Y7 71p 11°wRwH 3"K'?°

! The weaver’s reed (773 2w 71p) refers to a piece of wood upon which the horizontal threads (21¥7 *0I7) are wound.
The vertical threads are separated alternately and this >773 713p is thrown between them to weave the garment.

2 To be 21 for XX one needs to carry out something which is useful. A *7737 73p is usually useful for one garment;
however since here it is has sufficient thread for two garments it is useful for two people; it has two 2™ ¥w.

3 Previously the X7n3 asked that perhaps this *7737 773 has enough wood/fuel to cook two eggs so there is a 237 MW
'R. The X7n3 answered, if he is 211 because there is enough wood/fuel, so why mention 7737 713, any 73 would be
2r. The same question seems to be here, if there is enough thread to make two cloths, so what is special about 1P
*7737; the Xn11 is only telling us that if there are two o*11y°w, both are 2>°1. We could know this rule from any m1p.

4 We may have thought that since one >7737 737 is used for only one waving, it should be considered '® 1w, regardless
of how such thread there is on it, since it will be used for only one weaving.

51t is considered as if it is two o™y w.

6 See 3"x "7 X"y .

TosfosInEnglish.com



